# PLANT ENTERPRISES PRODUCTION

CLAIBORNE FARISH		PLANT EN	<u>TERPRISES PRODU</u>	CHUN		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				142,864	cords	
Hardwood				70,264	cords	
Pulpwood (Total)				213,128		
Chip & Saw (Total)				18,886	cords	
Saw Timber						
Pine				67,423,700	board feet	
Hardwood				5,986,160	board feet	
Saw Timber (Total)				73,409,860		
Total Pulpwood, Chip & Saw,						\$55,836,096
Saw Timber FOB Mill						
Total Forestry Stumpage						\$33,400,078
(Total)						
Christmas Trees (Total)	*			200	trees	\$8,000
Pine Straw (Total)	*			4,000	bales (40 lbs.)	\$8,000
Forestry (Total)						\$55,852,096
FRUITS						
Blackberries (Total)	*	1.0	1,000.00	1,000	pints	\$1,750
Blueberries (Total)	*	1.0	1,800.00	1,800	lbs.	\$2,880
Mayhaws						
Orchard	*	3.0	2,000.00	6,000	lbs.	\$7,800
Mayhaws (Total)		3.0				\$7,800
Fruits (Total)		5.0				\$12,430
HAY FOR SALE						
Grass (Total)	100	25,000.0	2.50	62,500	tons	\$3,750,000
Hay for Sale (Total)		25,000.0				\$3,750,000
Home Gardens (Total)	2,200					\$572,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$50,000
Plants (Total)						

NURSERY CROPS						
Woody Ornamentals (Total)	*				acre	\$10,000
Foliage Plants (Total)	*				acre	\$10,000
Nursery Crops (Total)						\$70,000
Sod Production (Total)	*	25.0			acre	\$150,000
VEGETABLES						
Collards						
Fresh	20	7.0	600.00	4,200	doz. bunches	\$29,400
Collards (Total)		7.0				\$29,400
Mustard (Fresh) (Total)	9	7.0	500.00	3,500	doz. bunches	\$24,500
Okra (Fresh) (Total)	*	1.0	250.00	250	bu.	\$7,500
Pumpkin (Fresh) (Total)	*	1.0	2,000.00	2,000	cwt.	\$50,000
Snap Beans (Fresh) (Total)	9	3.0	200.00	600	bu. (30 lbs.)	\$18,000
Southern Peas (Fresh) (Total)	30	25.0	100.00	2,500	bu. (24 lbs.)	\$62,500
Sweet Corn (Fresh) (Total)	*	10.0	400.00	4,000	doz. ears	\$14,000
Turnips (Fresh) (Total)	15	5.0	500.00	2,500	doz. bunches	\$17,500
Watermelon (Total)	6	60.0	200.00	12,000	cwt.	\$96,000
Vegetables (Total)		119.0				\$319,400
TOTAL ALL PLANT ENTERPRISES	S					\$60,725,926

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Fish bait (Total)	*			500	lbs	\$3,250
Aquaculture (Total)						\$3,250
Fur Animals (Total)				28	pelts	\$272
HUNTING LEASES						
Waterfowl (Total)	*	30	No. Acres		acre	\$1,500
			Leased			
All Other Game (Total)	52	250,000	No. Acres		acre	\$1,750,000
			Leased			
Hunting Leases (Total)						\$1,751,500
Honey (Total)	*	25	No. Hives	250	lbs.	\$148
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$1,755,169
TOTAL ALL FISHERIES & V		ENTERPRISES	S PRODUCTIO	DN		\$1,755

### ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			210	head	\$111,948
400-500 lbs.			210	head	\$127,074
500-600 lbs.			422	head	\$277,290
600-700 lbs.			316	head	\$232,841
Steer Calves (Total)					\$749,153
Heifer Calves					
300-400 lbs.			245	head	\$114,605
400-500 lbs.			410	head	\$224,297
500-600 lbs.			210	head	\$130,122
600-700 lbs.			200	head	\$139,542
Heifer Calves (Total)					\$608,566
Yearling Cattle					
600-700 lbs.			300	head	\$1,853
700-800 lbs.			325	head	\$2,169
Yearling Cattle (Total)					\$4,022
Cow-Calf Pairs (Total)			125	pair	\$122,391
Cull Cows (Total)			300	head	\$118,907
Cull Bulls (Total)			20	head	\$18,561
Cattle & Calves (Total)	103	2,610 No. Cows			\$1,621,600
DAIRY					
Dairy Cows					
Milk	*	166 No. Adult Cows	1,685,859	pounds	\$271,086
Bred Heifers			13	head	\$23,400
Adult Cows			27	head	\$40,500
Cull Cows			52	head	\$31,200
Bull Calves			76	head	\$3,800
Breeding Age Bulls			1	head	\$1,200
Dairy Cows (Total)					\$371,186

DAIRY						
Dairy Goats (Total)	*	50	Total Adult Does	1,700	Pounds	\$374
Dairy (Total)						\$371,560
HORSES						
Brood Mares						
Show Horses	*	20	No. Brood Mares	7	head	\$28,000
Recreation Horses	54	800	No. Brood Mares	210	head	\$315,000
Brood Mares (Total)						\$343,000
Stud Fees						
Show Horses		6	No. Stallions	25	mares bred	\$37,500
Recreation Horses		8	No. Stallions	40	mares bred	\$20,000
Stud Fees (Total)						\$57,500
Show Horses (Total)	10			25	head	\$125,000
Recreation Horses (Total)	400			1,500	head	\$2,250,000
Horses (Total)						\$2,775,500
POULTRY						
Broilers (Total)	43			125,100,826	lbs.	\$88,821,586
Edible Eggs (Total)	*	0	No. Hens	1,000	doz. eggs sold	\$650
Cull Hens (Total)				2,000,000	lbs.	\$300,000
Breeder Flocks (Total)	11	260,400	No. Birds	3,400,000	doz. hatching	\$1,292,000
					eggs sold	
Pullets (Total)	*			380,000	each	\$665,000
Poultry (Total)						\$91,079,236
RABBITS						
Fryers (Total)	6	110	No. Animals	550	lbs.	\$440
Does (Total)	6	90	No. Animals	900	lbs.	\$135
Rabbits (Total)						\$575
GOATS						
Show Goats (Total)				10	head	\$2,250
Slaughter Goats (Total)				20	head	\$2,170
Stocker Goats (Total)				30	head	\$2,595
Cull Goats (Total)				10	head	\$600
Goats (Total)	*	80	No. Does			\$7,615
SWINE						
Show Pigs (Total)				50	head	\$14,250

### ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					_
Feeder Pigs (Total)			50	head	\$1,560
Slaughter Hogs (Total)			2,000	head	\$261,300
Culls (Total)			100	head	\$16,800
Swine (Total)	*	300 No. Sows			\$293,910
TOTAL ALL ANIMAL ENT	ERPRISES				\$96,149,996

CLAIBORNE PARISH \$158,631,091